& HYUNDAI

EEC nummer :e6%94/20%0267*00
D-waarde 11,1 kN

S-waarde :90 kg

Max. » :1450 kg
[ﬁamenstelling

1 trekhaak ref.1109

1 bolstang T43K000 of T35K000
2 bouten M12-40

1 veiligheidsoog

4 bouten M12-140 + moeren

2 bouten M10-140 + moeren

2 bouten M12-30 + moeren

2 bouten M12-30

12 borgrondsels M12

2 borgrondsels M10

6 rondsels 40-12-4

2 verhoogde rondsels 50-50-83
1 monteerstuk (—g) ‘

1 monteerstuk (-h)

1 monteerpriseplak P03

2 bouten M12-35

@

- o

s B
OB o

Hyundai

Type :H200 CTTE

Model : 1998 /

\.

N°:1100 |

*)

*)

*)

(A)

(B)

(€)
(c)
(A-C-C’ -*)
(B)
(A-B)
(B)
(c-c”)
(c-c)
(*)
(*)

TREKHAKEN gdL,

Composition

R HERENONFNDNND B

@

&)

attelage ref.1109

tige-boule T43K000 of T35K000
boulons M12-40

anneau de sécurité

(*)
(*)
{(*)

boulons M12-140 + écrous (A)
boulons M10-140 + écrous (B)
boulons M12-30 + écrous (C)
boulons M12-30 (c’)
2 rondelles de slireté Ml12 (A~C~-C’ -*)
rondelles de sireté M10 (B)
rondelles 40-12-4 {A-B)
rondelles réhausées 50-50-83 (B)
piéce de montage (-g) (c-Cc’}
piéce de montage (-h) (C-C")

plagque de prise P03

° %

-

®
LH

Q

GDW N.V.

Hoogmolenwegel 23
B-8790 WAREGEM
Tel.32(0)56/60.42.12

Fax 32(0)56/60.01.93

ATTELAGES

(*)

e
;
r



Anastasiyak
Text Box

Anastasiyak
Text Box

Anastasiyak
Text Box


529

L15)

W

no

el

—
“3UNINGIED SP 38 UTSIZ D FEITNPUCO #8T TeBwawopus sed eu ¢ jusoled us 3

‘uo

3P #3UTOd £3T JUBNATTANIUSAP SIANOORI TND UGS QUSII-TIUE,P MO SWNITQ 8P SYONAO [ A gk
TRITEUCTENIDUOD 83304 TSITNAUCO ‘8INITOA 92104 OP §STI0INT WNMTXEW UOTIOEIF 8P sprod oy
i tond

*IBTPYUDSIQ UBPRIPITEITOTIIONLS JO BUTPTATEII Uesd Uew 3Jep uUsIOq ey f1q 3o

‘ATeyNe13 op ura miveTdedutbiigssaq ep do Deetusamilq P [SRNJUBAS JeP(-

‘usbeydpeel ®3 Isteap mn n jualp ‘usxYe Xy Berw oine mn eXTam’‘essew sueissbacy ‘Xww ep

X

*s310ddne ssp swo ¢ syoneb 93¢0 ne 15dnod FTRM SINODSS SP SNOI BT SIjPWeY

*I9XT3 USTQ 32 SUOINOG $IT SNOJ SIIIIN
*,0 39 D D9AR JURUIAUOD (Y-} 39 (b~) s20p7d 9T aI3UB ,D 312 D O9A® IORINIFP, IIJUOK (f

*393396 UITI SU FTVW JUIWBATITUPIPP (Y-) 38 (H-) s0097d §97 290eTg ‘EIPeSNRYST
ssTTepuolr 83y ®I33an ITaanod Inod wm (] ‘wefp DPAR snOI3 se ITpuribe 39 £3037d se1
I3A3TUE  wmm GY0T ‘WRTP D9A® JulwITRjUOZTIOY g s3uyed £9T7 I9TO0d 'RIUWISTX® seberoy

$97 @IJUOCO VY DPAR FTHEPYD NP INSTIPIUT,T 9I3u0d (6-) 38 (Y-) €90g7d so7 e1330K

~r

*EINODSS IP FNOI BT IMASTUF (T
sbejuow op ©OT30N

*g310ddne
uea uabezye uo € UPRISIYOR Ip(1zIIYUTT 9p Uwe 3sIs2 Teem ussiveTdbnIe] TTMRIAIISRY (]

‘usuuedsuve y({17abop sefre uo uabusaquy uegnog °,5 Us 3 usjund

op 3ouw uessed ud (Y-) UB (H-) UIYNIE P UISENT ,D UD D IBW UITSIUOM XeRYYPI3 9P ON ([

‘usuuedsuve 397U Bou zeew ussyveTd peoch 100a (Y-) us (B-) usxynas sq -uasieerd

23 sT9spuocl PpSOOYTIA 3p WO “mu [T @ 303 Ue30IBIPA us3leb sp100qeb Sp UG uswWIUSIM

bnisy uayxn3s SP PUIRRQ ‘UM GO @ 3P USIOQGIOOP TwejuoczTioy g usjund ea ‘usburioqg
spuee3saq usbel v 3aw uasjee(d sTsseyo sp{Tzusuutq uebay (H-) us (y-) usx(nas og {2

‘towaubom TeTMIAZOERY (T

.mﬁuﬂﬂwﬂmwﬁﬂvndwmmwwﬂmmmmmu

@ [ 330 oozH Tvannis| |HOUMAH &



Anastasiyak
Text Box




